
 

 

𝑥 = 𝑙𝑜𝑔𝑏 𝑎 
 
Definizione: 

[1]  𝑥 = 𝑙𝑜𝑔𝑏 𝑎 ⇔ 𝑏𝑥 = 𝑎 

Esempi: 

𝑙𝑜𝑔10 100 = 2 
infatti
→    102 = 100 

𝑙𝑜𝑔2 8 = 3 
infatti
→    23 = 8 

𝑙𝑜𝑔5 0 = 1 
infatti
→    50 = 1 

𝑙𝑜𝑔𝑏 0 = 1 
infatti
→    𝑏0 = 1 𝑠𝑒 𝑏 ≠ 0 

 
Proprietà: 

[2]  𝑏𝑙𝑜𝑔𝑏 𝑎 = 𝑎 

Dimostrazione: 
dalla definizione [1]: 𝑏𝑙𝑜𝑔𝑏 𝑎 = 𝑏𝑥 = 𝑎 

[3]  𝑙𝑜𝑔𝑏(𝑎 ∙ 𝑐) = 𝑙𝑜𝑔𝑏 𝑎 + 𝑙𝑜𝑔𝑏 𝑐 

Dimostrazione: 
𝑏𝑙𝑜𝑔𝑏(𝑎∙𝑐) = 𝑎 ∙ 𝑐 = 𝑏𝑙𝑜𝑔𝑏 𝑎 ∙ 𝑏𝑙𝑜𝑔𝑏 𝑐 = 𝑏𝑙𝑜𝑔𝑏 𝑎+𝑙𝑜𝑔𝑏 𝑐 ⇒ 𝑏𝑙𝑜𝑔𝑏(𝑎∙𝑐) = 𝑏𝑙𝑜𝑔𝑏 𝑎+𝑙𝑜𝑔𝑏 𝑐 
⇒ 𝑙𝑜𝑔𝑏(𝑎 ∙ 𝑐) = 𝑙𝑜𝑔𝑏 𝑎 + 𝑙𝑜𝑔𝑏 𝑐 

[4]  𝑙𝑜𝑔𝑏 𝑎
𝑛 = 𝑛 ∙ 𝑙𝑜𝑔𝑏 𝑎 

Dimostrazione 

𝑙𝑜𝑔𝑏 𝑎
𝑛 = 𝑙𝑜𝑔𝑏 (𝑎 ∙ 𝑎 … ∙ 𝑎)⏟      

n volte

=⏞
[3]

𝑙𝑜𝑔𝑏 𝑎+. . . + 𝑙𝑜𝑔𝑏 𝑎⏟            
n volte

= 𝑛 ∙ 𝑙𝑜𝑔𝑏 𝑎 

Caso particolare: 

[5]  𝑙𝑜𝑔𝑏 𝑎
−1 = 𝑙𝑜𝑔𝑏

1

𝑎
= − 𝑙𝑜𝑔𝑏 𝑎 

 

[6]  𝑙𝑜𝑔𝑏
𝑎

𝑐
= 𝑙𝑜𝑔𝑏 𝑎 − 𝑙𝑜𝑔𝑏 𝑐 

Dimostrazione: 

𝑙𝑜𝑔𝑏
𝑎

𝑐
= 𝑙𝑜𝑔𝑏 (𝑎 ∙

1

𝑐
) =⏞
[3]

𝑙𝑜𝑔𝑏 𝑎 + 𝑙𝑜𝑔𝑏
1

𝑐
=⏞
[5]

𝑙𝑜𝑔𝑏 𝑎 − 𝑙𝑜𝑔𝑏 𝑐 

Cambio di base: 

[7]  𝑙𝑜𝑔𝑏 𝑎 =
𝑙𝑜𝑔𝑛 𝑎

𝑙𝑜𝑔𝑛 𝑏
 

Esempio (il log in base 2 non c’è sulla calcolatrice, il log in base 10 si ..): 

𝑙𝑜𝑔2 8 =
𝑙𝑜𝑔10 8

𝑙𝑜𝑔10 2
≅
0.903

0.301
= 3 

base argomento 


